Assembly Instruction

X

0 [ 4 [ipcs| R | Mex25 [6pcs

STEP 3:

:

G [ Mex12mm [8pcs

A | M6x40mm [8pcs

Pull to split the

Q
NO. SIZE QTY ‘
=) \\
\
1 1200x390x16 1
A | Mex4omm [32pcs| B | p15x11.5[32pcs| C | @ 8x30 | 28pcs
9 1200x390x16 1
®
3 618x389x16 9 2 g
vV
4 618x366x16 1 D [e12xi0nm [24set| E | WAx14 |72pcs| F | W4x30 |24pcs
5 574x60x16 4 <
~
S
6 1164x119x16 | 9 / Y
7 1174x390x5 1 0 ‘ 44 ‘lpCS R ‘ M6x25 ‘GpCS K ‘ 12" ‘6set
8 592x198x30 6 @
9 350X130X12 12
p ‘ / ‘Zset G ‘ M6x12mm ‘Spcs z ‘ @20 ‘32pcs
10 525x130x12 6
11 535x344X5 6

gliders into 2 pcs



STEP 7:

STEP 6:

STEP 5:

==

(1

B [ 15x11.5 [4pcs [ C | @8x30 | dpcs

K\

| 3set

12"

GO

E [ M4x14 [18pcs| A | Wex40mn | 4pcs

K\

\SSet

12"

E | w4x14 [18pcs

7]
o

o

o

N

E

o| =D g

—

<

o

(a1 =
o =1
= <

w

Vo

1%}

o

&

o

) 2
== |&
=

o

0

o

o

©

. [10]
(o2} S -
2IN) %

o /) )
[IT} = -
- S
7 =
o

7]

o

o

~

o

) 2
== |&
=

o

n

o

o

~

. (0]
oo} S —
o | G 2
Ll = -
— (S
0 =
o




STEP 14:

STEP 13:

D [#12x10mm] 24set| E [ M4x14 | 36pes | K \ 12" [eset | F | M4x30 | 24pcs

STEP 12:

STEP 11:

have a different type of wall.

type of wall fixing, Please consu
your furniture seller due to you may

Wall fixing: You may need a different

>

2
&

Z

e
P

STEP 16:

Levelling adjustment

12

(5]

o

%]

o

R
== &
[&)

0

(5]

j=N

o

=

2

Hn han
y |3
=

=

o

[%2]

o

&

g
== |3
[&)

8

=
=

b

~—

A bl
L ]
=2
|

STEP 15:




